normalized X?

107}

1072

107

0.

_ R
"0 2 4 6 8 10 12 14 16 18 20

[ normalized x? probability |

0.95/

O gyt ppenpunpenyeny

0.10203040506070809 1
Prob(x?)

X2
e DOM_MKFIL_TT_retram
m—— DOM_mkFit_TT_NEWdefault_specPLess1
e DQM_mkFit_TT_NEWdefault_specPLess2
s DQM_mKFit_TT_NEWdefault_specPLess3

s DOM_mkFit_TT_NEWdefault_specPLess4

5 ~ 5

P S E

2 18F-- ~ o 4F-

~ E - F

< 1.6F--- 2 3k

Y 3 o E

14f-- S %
1.2 v -

1 oF-

Fos E
0.8F1 -
0.6F _22_.
0.4F- -3f-
0.2F- -4f-

o +RF ° w5f

T T

@ o

4 1 - -+
0953 0953 - 0 2 3
TP n (PCA to beamline)

A A E

2 2 18fF-

% < 1.6F-

\Y \Y E
1.4~
1.2F

-
0.8F-
0.6F
0.4F
0.2F

° o O

© T

@ @

0.5
101 1 1(l)2 0 10° 1072 1071
&T AR(track, jet?

g

A 4AF

o

- 3:_

o F

o 2F-

A\ E

-
oF-
-
_2;—.
_3;—.
—af-

9 w5

©

24

-
0.95




	Contents
	Page 1


